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S4 Nationals

Geography
Homework Booklet

· All tasks should be completed in your homework jotter.
· Write in full sentences. Do NOT bullet point answers.
· Use blue or black ink. 
· Credit will be given for annotated diagrams, where appropriate.




Population – Homework 1 – 9 marks
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Question 1
Look at the diagram above
Explain why there are areas of different population density across the world 
Your answer should refer to both physical and human factors  
										          (6 marks)

	2. Large areas with very few people living there are said to be

	A
	uninhabitable

	B
	overcrowded

	C
	densely populated

	D
	overpopulated

	E
	sparsely populated



	3. Population distribution is

	A
	the land area of a country divided by its population

	B
	how many people there are in a country

	C
	how many young, middle aged and old people there are in a country

	D
	how far people in a country travel on holiday

	E
	where people are located within in an area or country such as Scotland



	4. Mountainous areas are usually quite sparsely populated because

	A
	they are not next to the sea

	B
	there are too many diseases and insect pests

	C
	there is not enough water supply

	D
	steep slopes make them difficult to access and difficult to build on

	E
	the climate is often too hot and humid



Population– Homework 2 – 10 marks
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Question 1 
Study the diagram above
Explain the differences in population structure of Bolivia and Netherlands
You should refer to both birth rates and death rates in your answer
											(6 marks)






	2. Birth rates may traditionally be high in some cultures because

	A
	contraception is frowned upon

	B
	couples have extra children incase some die young due to high infant mortality rates

	C
	all of these

	D
	having lots of children is seen as a status symbol for fathers

	E
	families need more children so they can send them out to work and earn money



	3. Later marriages may help to reduce birth rates because

	A
	it is against the law in the UK to have children unless you are married

	B
	getting married later in life means that people have less money to spend on children

	C
	many people choose to wait until they are married before having children, so later marriages mean that couples will have fewer years in which they can have children

	D
	preparing for the wedding is so time consuming that couples can't have children

	E
	people don't have time to think about having children unless they are married



	4. Improving pensions and health care for older people helps to reduce birth rates because

	A
	couples will not need to have extra children to ensure that their offspring can look after them when they get old

	B
	elderly people can't have children

	C
	you are not allowed to have children over a certain age

	D
	there is no money left to help look after young people so couples have fewer children

	E
	there will be no need to have children to boost the workforce



	5. The only way to reduce birth rates is

	A
	to make contraception more widely available

	B
	to encourage people to marry late

	C
	to have a one child per family policy

	D
	to improve health care

	E
	there are many different ways to reduce birth rates





Population– Homework 3 – 10 marks
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Question 1 

Give reasons for falling worldwide death rates

(6 marks)
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Question 2 

Choose one social and one economic indicator of development shown in the table above. 
Explain how your two choses indicators show the level of development in a country
(4 marks)

Health– Homework 1 – 10 marks
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Question 1 

Study the diagram above
Describe, in detail, the changes in death rates from Malaria
											(4 marks)


Question 2

For Malaria, 
Explain the impact on the people and the countries affected
											(6 marks)




Health – Homework 2 – 10 marks
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Question 1 

Study the diagram above
Describe, in detail, the distribution of male deaths from heart Disease

											(4 marks)




Question 2

For heart Disease, explain the methods used to control it 

(6 marks)




Health – Homework 3 – 10 marks
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Question 1 

Study the diagram above
Describe, in detail, the changes in Ebola cases in the three African countries 

											(4 marks)


Question 2

For HIV/AIDs, Explain the causes of the disease


(6 marks)



Weather – Homework 1 – 9 marks
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Question 1 

Explain the Factors which affect average temperature in the UK
											(4 marks)
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Question 1 

Identify the air masses affecting the UK (A- E)
											(5 marks)

Weather – Homework 2 – 12 marks

Question 1

Describe the impacts of a long period of Artic Maritime air mass in the UK

										(4 marks)

Question 2

Describe the impacts of a long period of Tropical Continental air mass in the UK

										(4 marks)
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Question 3

Use the weather circles to describe the weather in Aberdeen, Glasgow, Newcastle and London

					(4 marks)











Weather – Homework 3 – 5 marks
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Question 1 

Explain the changes that will take place in the weather over Stirling in the next 24 hours 
(5 marks)





Weather – Homework 4 – 5 marks
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Question 1 

Give reasons for weather conditions at Bathgate on the 28th December 2014
(5 marks)
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